Color threshold formula YCHJINDS 1996 for all colourso&oc, N&W

DEjp = Yol (B Yer) + (A Cy Yer) 1?1 (5+0 Yo )

Yeit =Y-[1-peo- (1YY ] Y= tristimulus valueOstwaldcolour

a=xly a=x,/ly, b=-04z/y Bk=-04z/y, Y,=100

Cp=[a,(a - &) + I, ’(b - b)) n=D65 or A (surround)

Y =(Y;+Y,)/2 AY=Y;-Y, Aa=a-a Ab=b;-hb,

Pc.o = Cab/ Cab o Pe,oc = Cab! Cab oc s=0,0170 q=0,0058 t=]

=10 B=18 Y=15 surround D65

8%=10 B=17 Y%=1,0 surroundA

Just noticeable difference of all complementary (c) colours&oc, N&W

(@ ~ ap)Yo=(@oc = @) Yos (06 = Bp)Y6=(Boc = Pr)Yos  Cab,0¥o=Cab o¥oc
DY = const ('S + qYq )/ Y, in luminance directioWVN

Dcay Yerr = cONSE(S+Q¥q) /Yo in any chromaticity direction,,

ACqp ¢ Vet = CONSE (S + Qs o Y/ Y,,and for any purity0<= g, or p; . <=1
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